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FF DK ER bt F AL (REHRID)
BERKEXMRAL (RFHI)
BESS | ZHRERATME (L Sv/h)
- NE S
No. |  THETH K4 INCETL BZ | soom | (hs-amOFHE) o=
fm 5@ %10
FERFR REMER
50cm 0.06 0.07
593 B EFAE |BAREeESHLAR 10828 [E L3R5
1m 0.06 0.06
50cm 0.10 0.1
594 =P EFHARE |LoSHhDOFAR—YAER | 10818 2 BWIILE
im 0.11 0.11
50cm 0.12 0.13
595 B EEFAE |REKEEHLE 10A18 TEIRS
1m 0.13 0.13
50cm 0.10 0.1 . .
596 B EEFAE | KEREAEHLE 10A18 ZEHMYT SR
1m 0.10 0.10
50cm 0.09 0.10 . .
597 B EFAE |RRAOAEHAR 10A18 g5 R
1m 0.09 0.09
50cm 0.10 0.1
598 =P #HEAE |RALRELE 10818
1m 0.10 0.11
50cm 0.10 0.10
599 B #HEAR |ME2E 10A1H
1m 0.09 0.10
50cm 0.11 0.13
600 =P #HEAR |MELaR 10818
1m 0.11 0.12
50cm 0.12 0.12
601 B HERAR |SLdaBE 10A1H
1m 0.11 0.12
50cm 0.12 0.14
602 =P HERAR |SWAELE 10818
1m 0.12 0.14
50cm 0.10 0.1
603 B #HEAR |—EELE 10A2H
1m 0.10 0.10
50cm 0.05 0.06
604 =P EBAR |BFLAR 1082AR
1m 0.05 0.05
50cm 0.17 0.16
605 B BEAR BB 10A2H
1m 0.16 0.16
50cm 0.15 0.16
606 =P AHAR |FE#eE 1083A CHEIREG
1m 0.15 0.15
50cm 0.14 0.15
607 B 2B BELER 10A3H
1m 0.14 0.15
50cm 0.10 0.1
608 g ey #HEAR |EREaEaE 1083A
im 0.11 0.11
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[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (L Sv/h)
g NE S
No. | ThETH K4 INCETL BZ | soom | (h-amOFHE) =
fm 5@ %10
FERFR RERR
50cm 0.10 0.1
609 ik a) #HEXAR |[ATILALERE 10A3H
im 0.09 0.11
50cm 0.10 0.1
610 AT #HEAR |ELEAR 1083A
im 0.11 0.11
50cm 0.10 0.1
611 AT HEAR |ERERAE 1083A
1m 0.10 0.10
50cm 0.09 0.10
612 ik a) #HEAR |352E 10A3H
1m 0.09 0.09
50cm 0.09 0.09 .
613 FEERFT EBARE | KEFA=ZTAILS 10A3H EE)5
1m 0.09 0.08
50cm 0.12 0.14
614 ik a) ERAR | LHRAE 10A3H
1m 0.12 0.12
50cm 0.08 0.09
615 SRIEGHT HRELAR |ZoEE 1082AR
1m 0.08 0.08
50cm 0.08 0.08
616 h B4 HRELNR |EEZoBRGAILE 1082AR EZaAVNLIE
1m 0.08 0.08
50cm 0.10 0.10
617 &K WRET #HELAR |AMRELE 1084AR
1m 0.09 0.09
50cm 0.10 0.10
618 &K WRET #HERAR |[/MarE 10848
1m 0.10 0.09
50cm 0.10 0.10
619 &K WRET #HEAR |OFEDLYLE 10848
1m 0.10 0.10
50cm 0.07 0.08
620 &K WRET HEAR |FETLE 10A4H
1m 0.07 0.07
50cm 0.08 0.09
621 &K WRET #HERAR |[MooE 10848
1m 0.08 0.09
50cm 0.07 0.08 X
622 Edi HRELAER | KR 1084AR RIFOF (G442 X H)
1m 0.07 0.08
50cm 0.10 0.10
623 Edi kit | FIRPRLE 10848
1m 0.10 0.10
50cm 0.10 0.10
624 KRBT ;iR |[E0LAE 1084AR
1m 0.10 0.10
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BFhRE
BBR

B hxd SRAER (RUETHRYE)
KEXF A (RFHYD

BESS | ZHRERAEE (L Sv/h)
- NE S
No. | ThETH K4 INCETL BZ | soom | (h-amOFHE) =
fm 5@ %10
FERFR REMER
50cm 0.08 0.07
625 K WRET HEAR |hEIRT Y=Y 1084AR
1m 0.08 0.07
50cm 0.08 0.09
626 K WRET #HXAR |HAXE 10A2H
1m 0.08 0.09
50cm 0.07 0.09
627 Edi) #HELAR |HEAR 1082AR
1m 0.08 0.08
50cm 0.09 0.10
628 Edi HERAR |ZHEFERULE 1082AR
1m 0.08 0.09
50cm 0.10 0.10
629 R #HELAR |FETRELE 10878
1m 0.10 0.10
50cm 0.11 0.12
630 Liih=1:1) #HELAR |V ERELE 10878
1m 0.11 0.12
50cm 0.10 0.1
631 Liih=1:1) #HEAR |VHi2ERELE 10878
1m 0.10 0.11
50cm 0.11 0.13
632 Liih=1:1) #HEAR |VFHH3ERELE 10878
1m 0.11 0.12
50cm 0.11 0.12
633 Liih=1:1) #HEAR |VHH4ERELE 10878
1m 0.10 0.12
50cm 0.10 0.12
634 R #HXLR |BEFUWSHRAE 10A7H
1m 0.10 0.11
50cm 0.10 0.1
635 R #HXLER |BEFLU2EHERAE 10A7H
1m 0.10 0.11
50cm 0.11 0.13
- BRRI—1—42o ik
636 = BT HERAR 5 10A7H
TRBE\Lss m 0.10 0.13
50cm 0.10 0.1
637 R #HEAR |RFERNGHLLLE 10A8H
im 0.09 0.11
50cm 0.09 0.10
638 = HET HEAR |WESRT Y=o 1088H
1m 0.09 0.10
50cm 0.08 0.09
639 = HET HELAR |BofERTvN—2 1088H
1m 0.08 0.09
50cm 0.10 0.1
640 R HEAR | BMILE 10A8H
1m 0.09 0.10

3/4




EERRERFHRE-SAVIAEEHHAREE11E)FER
SHTEOH24H~10810AE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (L Sv/h)
& NEE
No. DilIES] X5 NEEZE FJ 8 50cm (PR-4FBDFYIE) =
. 5@ #10E
FERFR REMER
50cm 0.11 0.12
641 R bl /N -8 ) /N 1088H
1m 0.11 0.12
50cm 0.10 0.1
642 W= HET & EFRIL1EHKE 1088H
1m 0.09 0.10
50cm 0.09 0.09
643 W= HET & EFIL2E#HKE 1088H
1m 0.09 0.10
50cm 0.09 0.09
644 =87 #HELAR |RETRELE 1088H
1m 0.09 0.10
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